## Project Name Pavement Resurfacing - Ojai Area Spec. No. RD23-05 Abstract of Bids opened on June 13, 2023

ENGINEER'S ESTIMATE: 1,750,000.00

LOW BIDDER -Pavement Coatings Co. Jurupa Valley, CA 91752 1,777,787.50

2nd Bidder -American Asphalt South, Inc. Fontana, CA 92331 2,034,793.00

The undersigned certifies that the bids abstracted above were received on behalf of the Board of Supervisors, 'County of Ventura at the time and place designated in the Notice Inviting Bids; were publicly opened and read; and were checked.

Director, Engineering Services Department

Copies: Director PWA, PM: Sohil Bhakta

Bids (	Bids opened on June 13, 2023			ENGINEER'S ESTIMATE	STIMATE	LOW BIDDER		2nd Bidder	
Proje	Project Name Pavement Resurfacing - Oiai Area					Dayoment Coatin	00 00	Amorion Annia	
5						ravement Coatings Co. 10240 San Sevaine Way Junipa Valley, CA 91752	gs Co. ne Way 8 91752	American Aspnait South, Inc. P. O. Box 310036 Fontana CA 92331	South, Inc.
	Spec. No. RD23-05							200	**
ITEM	V								
Š	_	LIND	QUANTITY	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
-	Mobilization	r <sub>S</sub>	-	84,500.00	84,500.00	100,000.00	100,000.00	80,000.00	80,000.00
7	Traffic Control & Construction Signing	rs Ls	-	100,000.00	100,000.00	298,000.00	298,000.00	200,000.00	200,000.00
က	Water Pollution Control	rs	_	10,000.00	10,000.00	6,000.00	6,000.00	2,500.00	2,500.00
4	Tree Trimming	rs	-	25,000.00	25,000.00	30,000.00	30,000.00	25,000.00	25,000.00
2	Clearing & Grubbing	r <sub>S</sub>	~	30,000.00	30,000.00	120,000.00	120,000.00	15,000.00	15,000.00
9	Roadway Preparation	r <sub>S</sub>	-	50,000.00	50,000.00	00'000'09	00.000.00	10,000.00	10,000.00
7	Surface Prepartion & Crack Treatment	rs	_	50,000.00	50,000.00	50,000.00	50,000.00	141,200.00	141,200.00
∞ .	AC Taper with Key	R	1000	2.00	2,000.00	12.00	12,000.00	18.70	18,700.00
თ	Cold Milling (5' Wide)	当	1000	2.00	2,000.00	16.00	16,000.00	49.50	49,500.00
9	AC Base Repair	Z	1000	350.00	350,000.00	215.00	215,000.00	440.00	440,000.00
=	Asphalt Rubber Aggregate Membrane (ARAM)	λ	52300	00.9	313,800.00	6.20	324,260.00	6.20	324,260.00
12	Type III Emulsion-Aggregate Slurry	Z	1170	450.00	526,500.00	285.00	333,450.00	348.90	408,213.00
<u>.</u>	Seal Coat	₹	0.85	12,000.00	10,200.00	7,150.00	6,077.50	10,000.00	8,500.00
4	Survey Monument Frame Replace & Adjust	EA	20	3,000.00	00'000'09	1,200.00	24,000.00	2,000.00	40,000.00
15	Processed Misc Base (PMB) Shoulder Backing	Ξ	4.5	8,000.00	36,000.00	9,000.00	40,500.00	22,220.00	00'066'66
16	AC Miscellaneous Paving	Z	100	400.00	40,000.00	625.00	62,500.00	533.50	53,350.00
17	Pavement Delineation, Striping & Signing	P	-	00'000'09	60,000.00	80,000.00	80,000.00	118,580.00	118,580.00
	TOTAL				1,750,000.00		1,777,787.50		2,034,793.00

Corrections: A=Addition corrected C=Computed from total E=Extended from unit price M=Modified b bidder

Copies: Director PWA, PM: Sohil Bhakta

Spec. No. RD23-05 Project No. 50632

## LIST OF SUBCONTRACTORS

CONTRACTOR NAME:	avement Coatings Co.

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	Items of Work
Manhole Adjusting, Inc	398443	100004104	9500 Beverly Rd, Pico Rivera, CA 90660	#1 partial, 2 partial, #11 partial
Global road sealing, inc	757584	1000007714	10832 Dorothy Ave, Garden Grove, CA 92843	#7
Super seal & stripe	396627	1000000752	310 A street, PO Box 755, Fillmore, CA 93016	#17
Granite Construction	89	1000000085	4820 McGrath St, Ste 101, Ventura, CA 93003	#1 & 2 partial, 10,15,16
EBS Utilities Adjusting Inc	932798	1000004286	1345 Quarry St, #101, Corona, CA 92879	#14

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.

County of Ventura, Public Works Agency Subcontractor List

Page \_\_\_ of \_\_\_

Spec. No.: RD23-05 Project No.: 50632

## LIST OF SUBCONTRACTORS

CONTRACTOR NAME:	American Asphalt South, Inc	
	,	-

Listing shall comply with the provisions of California Public Contract Code, Section 4104.

Name of Subcontractor	Contractor's License Number	Contractor's DIR Registration Number	Business Address	items of Work
American Vavourut Systems, Inc.	943192	1000000207	1012 11 Higher	ALAM
Super Seal & Shipe	396627	1000000752	310 A street Fillmore, CA 93016	Shiping
Toro Enterprises, Inc.	210580	1000002410	P.O. Box 6289 Oxnard CA 93631	AL (ald Hill, AC Base Regair, Shadder & Misc. Paving
Planhole Adjusting Inc.	398443	1000004104	9500 beverly he Pico kivera c4	
V&E Tree Gervice	654506	1000001936	P.O. Box 3280 Orange, C4 92865	Tree Trimming
(4.5				

If more space is needed, add additional pages.

Public Contract Code Section 4104 provides that bidders must list:

- (a)(1) The name, the location of the place of business, and the California contractor license number of each subcontractor who will perform work or labor or render service to the prime contractor in or about the construction of the work or improvement, or a subcontractor licensed by the State of California who, under subcontract to the prime contractor, specially fabricates and installs a portion of the work or improvement according to detailed drawings contained in the plans and specifications, in an amount in excess of one-half of 1 percent of the prime contractor's total bid or, in the case of bids or offers for the construction of streets or highways, including bridges, in excess of one-half of 1 percent of the prime contractor's total bid or ten thousand dollars (\$10,000), whichever is greater.
- (b) The portion of the work that will be done by each subcontractor under this act. The prime contractor shall list only one subcontractor for each portion as is defined by the prime contractor in his or her bid.